
CORRECTIONS TO Q2(b) and (c) 

Q2 – Original solutions. 

 



(C) The diodes are Silicon based on the 0.7021 V across them when they are forward 
biased. 

Corrected solution to 2(b). 

T = 300°K 

VT = kT/q = 0.02589 V. 

From (a), ID1 / ID2  = 1/5 

From the circuit, ID1 + ID2 = 3mA 

So,  ID1 + 5ID1 = 3mA  

ID1 = 0.5 mA 

0.5 mA = 10-15  (eV/V
T - 1)  

eV/V
T  = 5x1011   

V/VT  = 26.9379 

Hence, VT = 0.6974 V.    

Corrected solution to 2(c). 

The diodes are Silicon based on the approximately 0.7 V across them when they are forward 
biased. 

 

 

 


